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Addition Year 2
Objective and Concrete Pictorial Abstract
Strategy

Adding multiples 50=30 =20 20+30=50
of 10

l l ' ‘ ' 70=50+20

| e—— a 1o 6 WanG = an
+ 6 40 + = 60

Model using bead strings, base ten or
Numicon

Use representations for base 10

Use known _
+1=16 16-1=
number facts Children explore E— 20| ] D D
Part — part - different ways of / D 1+ ‘:] =16 16 - D =1
whole making 20 ZO [] +[— =20 20-[ |=[]
\ § ; [(]+[ ]=20 20-[ ]=[]
Using known DDEI + DEID _ DEID O 0O Children draw _ _ 3+4=7....leadsto
facts = representations oty = 30+40=70....leads to
of H,T, O I+ 1= 300 +400 = 700
H* ] RS
EE
Bar model |
I
introduction Qm Q Q Q Q """“” ‘ ‘ ’ l | 23 | 25 .
AAAAL . 4
3+4=7
7+3=10 23+25=48
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Add a2 dlglt 27 + 30 27+10=37
and tens - £10 +10 +10
o 27 +20=47
[
| ! ! I !
25+10 =35 y E . y 27+ __ =57
27 37 47 §7
Explore that the ones digit does not change
Add two 2 digits ; 20 5 Or +20  +3 2 Y 25 +47\
_j _ i J NN 20+g \'40+
O V. N ~ & 4 Y. \
N . a7 o7 72 A7 &7 70 72 20 +40 =60
Model using dienes , place value counters Use number line and bridge ten using part sH7 =12
60+12=72

and numicon

whole if necessary.
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Subtraction Year 2
Objective and Concrete Pictorial Abstract
Strategy
Use of a number Year 2 — use of a blank number line to build on
line to count from work in Year 1
backwards v
.-
3
—_— AAAANT
Make 10 14 -5= 16-8=8
m How many do we take off first to get to
- 10? How many are left to take off?
;‘;!;! BT | - 13 minus 3 to make 10. Then subtract the
— | e remaining 4

14 take away the 4 to make 10.

The take away the other 1 =9
Partitioning Use Numicon or base ten to show how to 43-21
without partition and ,ﬁ
regrouping 44 - 13 subtract 0 40+3

without O -20+1
m H 0o 40 4 regrouping. 20+2=22
O
r Children make |43-21
of 10 3 both numbers Children cross off the number after drawing
i and then base ten.
physically remove the 13 from the 44.
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Partitioning with
regrouping

Tmow
1) Start by partitioning 45

2) Exchange one ten for ten more
ones

3) Subtract the ones, then the tens.

Represent pictorially — children cross off or
draw BaseTen/Numicon

67 -19

60 +'7
10 + 9
"50 + 8 = 48

Those confident will move onto the
following;

5ﬂ17
-28
39
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Objective and Concrete Pictorial Abstract
Strategy
Doubling Model doubling using place value counters, base Draw pictures and representations to show how | Partition a number and then double each
ten and numicon to double numbers. part before recombining it back together.

16
/7 \
10 6
Ix2 I x2

20 + 12 =32

Counting in Use numicon to count in groups. Children may use | Number lines, counting sticks and bar models to | Count in multiples of a number aloud. Be
multiples of 2,3, | fingers to count along or cues. show representations of counting in multiples. aware of only using chants / songs as
4,5,and 10 Link to bar modelling. children need to know the times tables
(Repeated luentl
addition) W, eM Moo Wl

] . ' U I I ] l I { I I » A4 A & : 4 Write sequences with multiples of
. an, emopa e g ek numbers.
o § © 1§ 2 2 »
.. 0,2,4,6,8,10

0,3,6,9,12,15
0,5, 10, 15, 20, 25

4x3=
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Multiplication is
commutative

Create arrays using counters, cubes and Numicon

Children need to understand multiplication can be
done in any order and that the answer is not
affected.

Children draw the arrays to demonstrate their

understanding.

12=3x4
12=4x3

Use an array to write
multiplication sentences and
reinforce repeated addition.

00000
00000

00000

5+5+5=15
3+43+3+3+3=15
5x3=15
3x5=15
Using the inverse | Create arrays using counters, cubes and Numicon Children draw triangles to show fact families 2x4=8
and match to the calculations verbally. using understanding that is multiplication is 4x2=8
(Taught alongside commutative and links to division. 8+2=4
division) 8+4=2
8=2x4
8=4x2
4=8=x2
2=8+4

2x4=8
4x2=8
8 shared between 2 =4
8 shared between 4 is 2

X

H{EIEIN
Himnn

HE|EN

Show all related multiplication and
division facts in fact family sentences.
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subtraction

number.
Eg6+2=3

Objective and Concrete Pictorial Abstract
Strategy
Division as Divide quantities into equal groups using cubes, Use number lines for grouping. 28 +7=4
grouping counters and objects to support understanding. +3 +3 +3 +3
/\ /’\/\ /\ Divide 28 into 7 groups. How many are in
A each group?
0123456789 101112
12 +3=4 How many groups of 6 are in 24?
Think of the bar as a whole. Split it into the
IonnJ oun‘onoo]lnn]nonjnuo_'no" number of groups you are dividing by and work
0 5 10 15 w0 0 2 out how many there would be in each group
either by drawing in the bar or knowledge of
tables.
Eg 20
20+95=?
9 x?=20
Repeated Children repeatedly subtract in groups of a Children represent this repeated subtraction by | Blank number line

drawing on a number line.
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Division with
arrays

Link division to multiplication by creating an array
and thinking about the number sentences that can
be created.

Verbally explain sentences

15+3=5
15+5=3
5x3=15

3x5=15

Children draw an array and use lines to split the
array in to groups to make multiplication and
division sentences.

© 0000
O
O

S

OQ
OO
QOO
GO0

Find the inverse of multiplication and
division sentences by creating eight linking
number sentences.

7x4=28
4x7=28
28+7=4
28+4=7

28=7x4
28=4x7
4=28+7
7=28+4




